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ITA2 (Baudot) and AMTOR Codes 
Character Set 

Combination ITA21 Code CCIR 476 2 Code Figures Case 
No. Bit No. 43210 Hex Bit No. 6543210 Hex Letters Case ITA2 U.S. TTYs3 
1 00011 03 1000111 47 A — — 
2 11001 19 1110010 72 B ? ? 
3 01110 0E 0011101 1D C : : 
4 01001 09 1010011 53 D 5 $ 
5 00001 01 1010110 56 E 3 3 
6 01101 0D 0011011 1B F 4 ! 
7 11010 1A 0110101 35 G 4 & 
8 10100 14 1101001 69 H 4 # or motor stop 
9 00110 06 1001101 4D I 8 8 

10 01011 0B 0010111 17 J BELL  ́
11 01111 0F 0011110 1E K ( ( 
12 10010 12 1100101 65 L ) ) 
13 11100 1C 0111001 39 M . . 
14 01100 0C 1011001 59 N , , 
15 11000 18 1110001 71 0 9 9 
16 10110 16 0101101 2D P 0 0 
17 10111 17 0101110 2E Q 1 1 
18 01010 0A 1010101 55 R 4 4 
19 00101 05 1001011 4B S ' BELL 
20 10000 10 1110100 74 T 5 5 
21 00111 07 1001110 4E U 7 7 
22 11110 1E 0111100 3C V = ; 
23 10011 13 0100111 27 W 2 2 
24 11101 1D 0111010 3A X / / 
25 10101 15 0101011 2B Y 6 6 
26 10001 11 1100011 63 Z + " 
27 01000 08 1111000 78 ← CR (Carriage return) 
28 00010 02 1101100 6C ≡ LF (Line feed) 
29 11111 1F 1011010 5A ↓ LTRS (Letter shift) 
30 11011 1B 0110110 36 ↑ FIGS (Figure shift) 
31 00100 04 1011100 5C SP (Space) 
32 00000 00 1101010 6A BLK (Blank) 

Notes 
1 1 represents the mark condition (shown as Z in ITU recommendations) which is the higher emitted radio 

frequency for FSK, the lower audio frequency for AFSK. 0 represents the space condition (shown as A in 
ITU documents). Bits are numbered 0 (least-significant bit) through 4 (most-significant bit). The order of bit 
transmission is LSB first, MSB last. Symbols A and Z are defined in CCIR Rec. R.140. 

2 1 represents the mark condition (shown as B in CCIR recommendations), which is the higher emitted radio 
frequency for FSK, the lower audio frequency for AFSK. 0 represents the space condition (shown as Y in 
CCIR recommendations). Bits are numbered 0 (LSB) through 6 (MSB). The order of bit transmission is LSB 
first, MSB last. 

3 Many U.S. teletypewriters have these figures case characters. 
4 At present unassigned. Reception of these signals, however, should not initiate a request for repetition. 
5 The pictorial representations of ⌧ or ? indicate WRU (Who are you?), which is used for an answer-back 

function in telex networks. 




